Triangles Numeracy Homework Autumn Week 7 

To be handed in on 1.11.10
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Temperature in °F | 32 | 68 | 104

1 The table shows three temperatures
each recorded in two scales.

Temperature in °C 0 20 | 40

This information has been used to draw a conversion graph.
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6 Do Workbook page 18, questions 5 and 6.

7 The graph shows the volume of petrol
in Lucy’s tank from the start to the
finish of Alan’s cruise.
What does one small interval represent on

(a) the volume axis  (b) the time axis?

8 (a) What were the starting and finishing times of
the cruise?
' .(b) How long did the cruise last?

9 What volume of petrol was in Lucy’s tank
(a) at the start (b) after 1 hour
(c) after 2 hours (d) at the finish of the cruise?

10 (a) What volume of petrol was used during
the cruise?
(b) Lucy travelled 4 km for each litre of petrol used.
What was the length of the cruise in kilometres?
(c) What was Lucy's average speed in km per hour?

Ask your teacher what to do next.

2 What does one small

interval represent on
(a) the Celsius axis

(b) the Fahrenheit axis?

Use the graph.
3 Convert these
temperatures to °F:

(a) 30°C  (b) 15°C.

4 Convert these
temperatures to °C:

(a) 50°F (b) 95°F.

5 The Lucy is in the Irish
Sea. What season is it
most likely to be when
the temperature at
2.00 pm is
(a) 25°C

(b) 36°F?
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Omit question 6 please.
